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QUESTION 1

During a recovery of a table space in a data sharing environment, what value is used to coordinate the log records
across the DB2 members? 

A. RBA 

B. LRSN 

C. ROWID 

D. SYSPITRT 

Correct Answer: B 

 

QUESTION 2

Which of the following types of SQL statements are NOT eligible to be stored in the dynamic SQL statement cache? 

A. MERGE 

B. INSERT 

C. SELECT 

D. OPEN 

Correct Answer: D 

 

QUESTION 3

What IBM provided stored procedure will access DB2 real time statistics tables? 

A. DSNAEXP 

B. DSNAIMS 

C. DSNACCOX 

D. DSNLEUSR 

Correct Answer: C 

 

QUESTION 4

If security administration is separated from system and database administration, via zparm, which level of authority is
required to define roles or trusted contexts? 

A. SYSADM 
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B. DBADM 

C. SECADM 

D. INSTALL SYSOPR 

Correct Answer: C 

 

QUESTION 5

What is the one significant difference between sequence objects and identity columns? 

A. Identity columns can cache values and sequence objects cannot. 

B. Identity columns can be defined on tables and sequence objects cannot. 

C. Sequence objects can have a character data type and identity columns cannot. 

D. Sequence object values can be used as primary keys and identity column values cannot. 

Correct Answer: B 
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